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1. Introduction
This contribution provides our views on co-existence study for above 10GHz bands based on our co-existence simulation result.
2. Discussion
According to WF [1], the co-existence simulation scenarios are show as below:
	No.
	Combination
	Aggressor
	Victim
	Frequency band
	Scope of Coexistence Simulation

	1
	TN with NTN
	NTN UL
	TN UL
	27 GHz
	ACLR NTN UE to be varied/defined
ACS TN gNB fixed

	2
	TN with NTN
	TN UL
	NTN UL
	27 GHz
	ACLR TN UE fixed
ACS NTN SAN to be varied/defined

	3
	TN with NTN
	NTN UL
	TN DL
	27 GHz
	ACLR NTN UE to be varied/defined
ACS TN UE fixed

	4
	TN with NTN
	TN DL
	NTN UL
	27 GHz
	ACLR TN gNB fixed
ACS NTN SAN to be varied/defined

	5
	TN with NTN
	TN DL
	NTN DL
	17 GHz
	ACLR TN gNB fixed
ACS NTN UE to be varied/defined

	6
	TN with NTN
	NTN DL
	TN DL
	17 GHz
	ACLR NTN SAN to be varied/defined
ACS TN UE fixed

	7
	TN with NTN
	NTN DL
	TN UL
	17 GHz
	ACLR NTN SAN to be varied/defined
ACS TN gNB fixed

	8
	TN with NTN
	TN UL
	NTN DL
	17 GHz
	ACLR TN UE fixed
ACS NTN UE to be varied/defined

	NOTE 1:	For coexistence between Ka-Band DL and adjacent TN bands, there are no 3GPP defined/specified TN bands.
NOTE 2:    To deprioritize scenario 7 and 8 for SAN elevation angle as 90-degree cases. Scenario 7 and 8 should still be studied for SAN elevation angle as 25-degree cases (computed from the center of the central beam).



Referring to our co-existence simulation result in excel [2], we plot required ACIR curve of case 1 to case 8 for VSAT as following.
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Figure 2-1: Case 1 Aggressor NTN UL to Victim TN UL (GEO, LEO-1200, LEO-600)
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Figure 2-2: Case 2 Aggressor TN UL to Victim NTN UL (GEO, LEO-1200, LEO-600)
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Figure 2-3: Case 3 Aggressor NTN UL to Victim TN DL(GEO, LEO-1200, LEO-600)
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Figure 2-4: Case 4 Aggressor TN DL to Victim NTN UL(GEO, LEO-1200, LEO-600)
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Figure 2-5:  Case 5 Aggressor TN DL to Victim NTN DL(GEO, LEO-1200, LEO-600)
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Figure 2-6: Case 6 Aggressor NTN DL to Victim TN DL(GEO, LEO-1200, LEO-600)
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Figure 2-7: Case 7 Aggressor NTN DL to Victim TN UL(GEO, LEO-1200, LEO-600)
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Figure 2-8: Case 8 Aggressor TN UL to Victim NTN DL(GEO, LEO-1200, LEO-600)

We summarized required ACIR for above 8 cases in Table 2-2.
Table 2-2: Required ACIR for Ka-band NTN co-existence
	Case
	Case1
	Case2
	Case3
	Case4
	Case5
	Case6
	Case7
	Case8

	Frequency
	27GHz
	27GHz
	27GHz
	27GHz
	17GHz
	17GHz
	17GHz
	17GHz

	Scenario case


	Aggressor NTN UL to Victim TN UL
	Aggressor TN UL to Victim NTN UL
	Aggressor NTN UL to Victim TN DL
	Aggressor TN DL to Victim NTN UL
	Aggressor TN DL to Victim NTN DL
	Aggressor NTN DL to Victim TN DL
	Aggressor NTN DL to Victim TN UL
	Aggressor TN UL to Victim NTN DL)

	Requirement to be defined
	NTN UE ACLR
	SAN ACS
	NTN UE ACLR
	SAN ACS
	NTN UE ACS
	SAN ACLR
	SAN ACLR
	NTN UE ACS

	Required ACIR[dB]
	GEO
	11.25
	37.5
	0
	11
	38.2
	0
	0
	12

	
	LEO-1200
	11
	33.5
	0
	20.5
	38.5
	0
	0
	12.5

	
	LEO-600
	9.2
	33
	0
	23
	>40
	0
	0
	12.1



From above Table 2-2, for case 2, required ACIR @ 5% throughput loss for GEO, LEO-1200 and LEO-600 is 37.5, 33.5 and 33, respectively, comparing with BS ACS (24dB), the required ACIR(for SAN ACS) is larger. And for case 5, required ACIR @ 5% throughput loss for GEO, LEO-1200 and LEO-600 is 38.2, 38.5 and >40, respectively, comparing with TN UE ACS (25dB), the required ACIR (for NTN UE ACS) is larger.

3. Conclusion
This contribution summarized required ACIR based on our co-existence simulation result for above 10GHz bands. The following observation is provided as follows:
Observation 1: Required ACIR for Ka-band NTN co-existence is as below:
	Case
	Case1
	Case2
	Case3
	Case4
	Case5
	Case6
	Case7
	Case8

	Frequency
	27GHz
	27GHz
	27GHz
	27GHz
	17GHz
	17GHz
	17GHz
	17GHz

	Scenario case


	Aggressor NTN UL to Victim TN UL
	Aggressor TN UL to Victim NTN UL
	Aggressor NTN UL to Victim TN DL
	Aggressor TN DL to Victim NTN UL
	Aggressor TN DL to Victim NTN DL
	Aggressor NTN DL to Victim TN DL
	Aggressor NTN DL to Victim TN UL
	Aggressor TN UL to Victim NTN DL)

	Requirement to be defined
	NTN UE ACLR
	SAN ACS
	NTN UE ACLR
	SAN ACS
	NTN UE ACS
	SAN ACLR
	SAN ACLR
	NTN UE ACS

	Required ACIR[dB]
	GEO
	11.25
	37.5
	0
	11
	38.2
	0
	0
	12

	
	LEO-1200
	11
	33.5
	0
	20.5
	38.5
	0
	0
	12.5

	
	LEO-600
	9.2
	33
	0
	23
	>40
	0
	0
	12.1
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